P1  UE INTRO TO TRIG GRAPHS Complete this worksheet for Tuesday ONLY the first 3 graphs on page 1 and 2

1.y =sinx 1.Complete the table by using your calculator to find sin of each angle given.
2. Plot the points on the graph paper below to get the curve for y = sin x
3. Answer the questions below the sketch

30° 145°| 60°| 90°|120°| 135° 150°| 180°(210°| 225°| 240°270°300° 360°

315|330°

. |Oo

y =sin X

sin01sin30
—0 |=05 |07

Plot: (0°:0) (30°:0,5)

3. a) The maximum value for sin xis .......... and the minimum value is ...........
b) The amplitude (distance from position of rest) is ...... unit(s)
c) The period (how many degrees the curve goes before repeating itself) is...........

2.y=cos x 1.Complete the table by using your calculator to find cos of each angle given. p1 pt2
2. Plot the points on the graph paper below to get the curve for y = COS X
3. Answer the questions below the sketch

T x |0° 30° [45°| 60°| 90°[120°|135° 150°| 180°(210°| 225° 240°270°300°315|330° 360°
_ cosd<os30°
awcaCHENEENERERERRE

Plot: (0°:0) (30°:0,9)
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3. a) The maximum value for cos x is .......... and the minimum value is ...........

b) The amplitude (distance from position of rest) is ...... unit(s)
c) The period (how many degrees the curve goes before repeating itself) is...........
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3. y=tanx 1. Complete the table using your calculator to find tan x for each value of x given.
2. Plot the points on the grid provided to get the curve of y = tan x.
3. Answer the questions below the sketch.
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3. 8) AN ASYMPLOLE IS eiiiiiieeie ittt st s te st e s e s et s e sa et e s e s et eas et eneeaeetesae et seesee stenee neenea e sennentas
b) The equations of the asymptotes of y =1an X are: ..o e
c) The period of the graph of y = tan X is ....cccccecevvvvvvecreeenene.
d) Complete the co-ordinates of the following and make sure you always plot them

(45°% ), (135% ), (225°% ), (315°% ),



SUMMARY OF TRIG GRAPHS:
Sine and cos graphs:

1. Starting point for sin X is .......c.c.... Starting point for cos X is .....ccccevueenee.
2. maxvalueis .....cceeeeeee.. Minvalueis ...................

3. amplitudeiis ....

4, period is ...ccceeveeveeereennn. therefore ................. units

5. double the ratio [y = 2 sin x] —» double the amplitude

6. double the angle [ y = sin 2x] —»halve the period .". halve the units

7. Neg of graph [y =-sin x] —turn graph upside down/ reflection in x-axis/ y-val’s change sign

8. y=sinx+c [y=sinx+1 ory=cosx—2] —» sin graph moves up 1 unit or cos graph moves down 2.

Y=tanx:

1. Starting point fory =tan xis ......cccceevvvenns

2. asymptotes at ....coocvecicee e & equations of asymptotes are ........cccceeeveceerieeneeereneene
3. AlWAYS SNOW The POINTS: .. et e bbb sa e sbeebe b e s sesses e aeesbessesaeeneserenaan
4. Period is ..cceveeeeiveirireirens 2 eeveerieessenenenn. UNIES
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LJE Trig Graph Practice

For 1-16 draw rough graphs of:
1. y=sinx -180°<x<180°
2. y=cosx -180°<x<180°

3a)y=sinxandy =cosx -180°<x<180°

4. y=-sin X -180° < x <180°
5. y =-cosx -180° < x <180°
6. y = tanx -180° < x <180°

7. y=sinx+1 0° <x<360°
8. y=cosx-1 0° <x <360°
9. y = 2.sinx -0° <x < 360°
10. y =% cosx -0° <x < 360°

11 a) y =sinx and y = 2.cosx -180° < x < 180°

12, y=-2.sinXx -180° < x <180°
13. y = - %.cosx -180° < x < 180°
14. y = 2.tanx -180° < x < 180°

15. y=sinx-1 0° <x<360°
16. y=cosx+1 0°<x<360°

17. Forq 3 -5, and 7-10 Give
a) The domain

b) The range
c) The period
d) The amplitude

e) The maximum value

18. For 6 and 14, a) give the y value when x = 45°
b) give the equations of the asymptotes
c) give the period



GRADE 10 REVISION WORKSHEET 1 OF GRADE 10 TRIG GRAPHS

4.1 Study the graph given and answer the questions that follow. The equation defining
this graph is given as: y =atdanx for x € [—180° 180°]

I | 3] T

|

411 Whatis the value of a ?
4.1.2 Whatis the period of this graph?

4.1.3 If the graph were shifted upwards by 2 units, what would its equation be?

4.2 Answer the following questions:

4.2.1  On your own set of axes, for 0° < x < 360°, draw the graph of
gry=cosx—1

422 Whatis the maximum value of this graph?

4.2.3 Whatis the amplitude of this graph?

424 Forwhatvaluesofxisy=cosx—-1=07

7.1 On THE SAME SET OF AXES (on the answer sheet given to you) draw the graphs of
f(x) =y =2sinx and g(x) =y = cosx — 1 for x € [0°;360°]. Make sure you show

where the graphs cut the axes and any turning points and which graph is f or g . (6)
7.2 What is the amplitude of f ? (1)
7.3 Whatis the period of g ? (1)

7.4 Whatis the range of g ? (2)

(1)
(1)

(1)
(1)
(2)
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GRADE 10 REVISION WORKSHEET 2 OF GRADE 10 TRIG GRAPHS
5.1 The sketch below shows the graph of y = f(x) = 2sinx :

2.1.1
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What is the amplitude of f ?

5.1.2 What is the minimum value of f ?

5.2 On your own set of axes draw the graph of

5.21

y =g(x) = cosx — 1 (for the interval 0° < x < 360°).
What is the period of g ?

5.2.2 Whatistherange of g ?

The sketch for this question must be drawn on the answer sheet provided.

7.1

7.2

7.3

7.4

7.5

7.6

On the same set of axes, draw the graphs of y = f(x) = Zsinx and
y=g(x)=cosx—1 for x €[-180°;180°]. All x and y intercepts, as
well as any turning points, must be shown.

What is the period of graph f ?

What is the minimum value of graph f ?
What is the amplitude of graph g ?
What is the range of graph g ?

Give any one value of x for which 2sinx = 0.

(5)
(1)
(1
(1)
(2)

(1)
[11]
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GRADE 10 WS 3 ON GRAPHS.
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A QUESTION 6 ‘ .

The graph of the function ffx} = a cos x is drawn below:
6 Val's o Forwbuch €@ Z 0 weoce 1

YT A 6.2.2 What is the period of y=tanx ?
n \./ oce ad,a7o ]
\ 1 8.23 What s the amplitude of y=sinx+1 ?
i / ./
) \ _ .
R D QUESTION?
L+ \ \ 7.1 Use the graph sketched alongside to
+ /- N answer the questions:
2.4 h
~ 7.1.1 Write down the equation of the
graph. §=- Ysdnx (3]
7.1.2 State the period of the graph. (1)
84 Whatis the value of a? (1) 7.1.3 State the domain oo::m graph. (1)
at is the value of a ] . o
) D x€lo' 260 ]
6.2 Whatis the amplitude of the graph? (1) o M.Uﬁ \ 00 L€ L 260 (M
6.3  Whatls the period of fiz} 7 ) E  QUESTIONS
6.4  What are the co-ordinates of A, the turning point of the function f#x) shown on The following graphs have been drawn below: ffx) =tanx and gix) = asinx
the graph? . (2)
6.5 If grx) is obtained by shifting ffx) down 2 units, what will the_.new equation of tr !
g(x) be? m 24 fix)=tanx ,
! '
y 6.2 The diagram below represents the graphs of the functions f(x)=acosx and “ |
g(x)=sinx+gq ’ - _. “
1 1
1 I
It H ! xS
O . Bo* 270° m.b- -
> YW R S S () aﬂ “
i -1 “ glx) =asinx “
1
_ "
- N. | )
5 i '
360 * ' !
; ; 6.1  Determine the value of a. (2)
e 6.2 If fix) is shifted 2 units downwards, it represents the function i
State the defining equation of 4. (2)
6.2,1 ‘What is the value of a? 0] 6.2  Write down the values of x for x ={0% 1807}, for which f7x) — g(x) = 0. (2)
6.2.2 Write down the value of ¢. ) 6.4  Write down the range of g. )
623 What is the range of g7 ") € M.o vuu W& N o< m & D./vw 2) | 85  Write down the period of £ (1)
8
6.2.4 For which values of xis g(x) - Ax)=27? o F&)= %QU.TQ ) a ‘,N\muaw @V 81
€25 v e JOOEED) Yy behow i Q1K XL
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